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cau la
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Cau 2 1d
A 0
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Van dung tu duy phan
bién vao tu van ra quyét
dinh kinh doanh cho
doanh nghiép.

CLO4 Ty luan 5% Céau 1.3 0.5d

P14.1

I11. N§i dung cau héi thi

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)

Caul

Which of the following statements is direct cost?

A. The salary costs of lecturers at Van Lang University

B. The salary of the sales director of the laptop manufacturing company
C. Rental of the finished goods warehouse

D. Costs associated with a marketing campaign

ANSWER: A

Céau 2

Which of the following cost is classified as a production cost
A. Rental of the factory

B. Selling and distribution cost

C. The salary of secretary at company office

D. Electricity costs used at the sales department

ANSWER: A

Cau 3:

Which of the following cost would be classed as indirect labour cost?
(). Baker in moon cake manufacturing company
(2). Office cleaning staff

(3). Factory supervisor

(4). A consultant in a firm of tax consultants

A. (2) and (3)

B. (1) and (3)

C. (1), (2),and (4)

D. (1) and (4)

ANSWER: A

Cau 4:
A company has recorded the following data in the two most recent periods.
Total costs of production Volume of production

$ Units
25,000 500
38,000 1,000

What is the best estimate of the company's fixed costs per period?
A. $12,000

B. $26

C. $25,000
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D. $13,000
ANSWER: A

Cau 5:
A company has recorded the following data in the two most recent periods.
Volume of production Total costs of production

Units $

1,000 295,000
1,500 400,000
2,000 515,000

Using the high-low method what is the variable cost per unit?
A. 220 $/units

B. 0.1 $/units

C. 1,000 $/units

D. $75,000

ANSWER: A

Céu 6:
A company has recorded the following data in the two most recent periods.
Volume of production Total costs of production

Units $
800 58,200

1,000 62,000

1,500 77,800

Using the high-low method. What is the cost at output level 1,800 units?
A. $86,200

B. $35,800

C. $93,360

D. $83,000

ANSWER: A

Cau7
The following data relates to an item of raw material.

Unit cost of raw material $30
Annual demand 15,000 units
Cost of ordering material, per order $250
Annual cost of holding inventory, as a % of cost  10%

What is the economic order quantity, to the nearest unit?

A. 1,581 units

B. 500 units

C. 250,000 units

D. 548 units

ANSWER: A

Cau 8

Data relating to a particular stores item are as follows:
Average daily usage 280 units
Maximum daily usage 450 units
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Minimum daily usage 150 units
Lead time for replenishment of inventory 5 to 10 days
Reorder quantity 5,000 units
What is what is the maximum inventory level?
A. 8,750 units
B. 9,500 units
C. 4,500 units
D. 5,000 units
ANSWER: A

Cau9

ABC Co makes the following purchases and sales.
1 March Purchases 3,000 units for $10,500
31 March ~ Purchases 1,500 units for $5,400

15 April Sales 3,200 units for $18,000
28 April Purchases 2,500 units for $9,250
14 May Sales 2,000 units for $12,000

At 31 May which of the following closing inventory valuations using FIFO is correct?
A. $6,660
B. $4,440
C. $6,530

D. $6,650
ANSWER: A

Cau 10

ABC Co budgeted to produce 10,000 units of its product in the budgeted time of 60,000 hours.
During the period the company produced 15,000 units in a total time of 91,500 hours.

What is the efficiency ratio for the period?

A. 98.36%

B. 152.5%

C. 150%

D. 66.67%

ANSWER: A

Cau 11

A company uses an overhead absorption rate of $2.80 per machine hour, based on 16,500
budgeted machine hours for the period. During the same period the actual total overhead
expenditure amounted to $44,100 and 16,000 machine hours were recorded on actual
production.

By how much was the total overhead under or over absorbed for the period?

A. Over absorbed by $700

B. Under absorbed by $700

C. Under absorbed by $2,100

D. Over absorbed by $2,100

ANSWER: A

Céu 12

The overhead absorption rate for product Y is $2.5 per direct labour hour. Each unit of Y

requires 2 direct labour hours. Inventory of product Y at the beginning of the month was 350
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units and at the end of the month was 300 units. What is the difference in the profits reported
for the month using absorption costing compared with marginal costing?

A. The absorption costing profit would be $250 less

B. The absorption costing profit would be $125 less

C. The absorption costing profit would be $250 greater
D. The absorption costing profit would be $125 greater
ANSWER: A

Cau 13
In its first year of operations a company produced 180,000 units of a product and sold 160,000

units at $5 per unit. It earned a marginal costing profit of $250,000. It calculates that its fixed
production overhead per unit is $6.5.

What profit would it have earned under an absorption costing system?
A. $380,000

B. $130,000
C. $120,000
D. $250,000
ANSWER: A

Céu 14

Last year, Express carried excess baggage of 150,000 kg over a distance of 3,000 km at a
cost of 3,870,000 for the extra fuel.

What is the cost per kg-km?

A. $0.0086 per kg-km

B. $0.86 per kg-km

C. $258 per kg-km

D. $0.0068 per kg-km

ANSWER: A

Cau 15

A chemical process has a normal wastage of 15% of input. In a period, 3,200 kgs of material
were input and there was an abnormal loss of 100 kgs.

What quantity of good production was achieved?

A. 2,620 kgs

B. 2,720 kgs

C. 2,820 kgs

D. 3,100 kgs

ANSWER: A
PHAN TU LUAN (3 cau- 4 diém)

Cau héi 1: (2.0 diém)
A company uses an item of inventory as follows.

Purchase price $50 per unit
Annual demand 2,000 units
Ordering cost $40

Annual holding cost $4.0 per unit
EOQ 200 units

1. What is the total cost incurred when ordering by quantity is the EOQ (0.75d)
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2. What is the total cost incurred when ordering by quantity is 400 units, assuming a discount
of 2% applies to the purchase price and to holding costs on orders of 400 and over? (0.75d)

3. Do you think ordering according to EOQ always minimizes costs? Why? (0.5d)

Cau héi 2: (1 diém)

A company which uses marginal costing has a profit of $42,300 for a period. Opening
inventory was 3,000 units and closing inventory was 2,300 units. The fixed production
overhead absorption rate is $3 per unit.

What is the profit under absorption costing.

Cau héi 3: (1 diém)
A company uses process costing to establish the cost per unit of its output.
The following information was available for the last month:
Input units 8,500
Output units 8,100
Opening inventory 300 units, 100% complete for materials and 40% complete for conversion
costs
Closing inventory 700 units, 100% complete for materials and 60% complete for conversion
costs
The company uses the weighted average method of valuing inventory.
1. What were the equivalent units for materials costs? (0.5d)
2. What were the equivalent units for conversion costs? (0.5d)

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi Néi dung dap an Thang | Ghi
diém cha
l. Triac nghiém 6.0
Caul-15 0.44d/
cau
Il. Tw luan 4.0
Caul 1.1 0.75d
EOQ
=200
Total order cost: 400
Total holding cost: 400
Total purchase cost: 100,000
Total cost 100,800
1.2 0.75d
Q=400
Total order cost: 200
Total holding cost: 784
Total purchase cost: 98,000
Total cost 98,984
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1.3 Ordering according to EOQ does not
always give the minimum cost, it is possible
that when ordering according to the quantity
discounted by the supplier, it will have a more
minimal cost

0.5d

Céau 2

OAR=3
Opening inventory > closing inventory
Compared with the marginal costing profit for
the period, the absorption costing profit for
product T will be lower : OAR*(Closing-
opening) = 3*(3,000-2,300)=2,100

= the absorption costing profit= 42,300-

2100=40,200

1d

Céau 3

The equivalent units for materials costs =
8,100+700*100%=8,800 (equivalent units)
(0.5d)

The equivalent units for conversion costs=
8,100+700*60%=8,520 (equivalent units)
(0.5d)

1d

Piém tong

10.0

Ngudi duyét dé

TS. Lé Phan Thanh Hoa

TP. Ho Chi Minh, ngay 04 thang 11 ndm 2024

Giang vién ra de
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